Four Quadrants

Four Quadrants

l1a. Sam thinks that the coordinates below
make a hexagon with a vertical line of

symmetry. "
(-1.-1)
(1.-1)
(2. 1)
(-2, 1)
(2. 3)
(-1. 3)
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Is he comect? Explain why.

1b. Daisy thinks that the coordinates
below make a pentagon with a vertical

line of symmetry. 5“
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Is she comect? Explain why.

2a. Follow the clues. Which shapes could
yvou draw? What could the coordinates of
the shapes be?

F

* The shape has
one pair of
parallel sides.

* The shape has
fewer sides than
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a hexagon.

* The shape
crosses hwo
quadrants.

* One of the
points is (-3, -4).
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2b. Follow the cluves. Which shapes could
you draow? What could the coordinates of
the shapes be?
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* The shape is
a regular
polygon.

* The shape
crosses all four
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quadrants.
= Al least three
points have 0 in
theeir coordinates.
= One of the
points is (2, 2).
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3Ja. Here is an octagon. Use the given

coordinates to find the coordinates of
points A, B, C and D.
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3b. Here is an dodecagon. Use the given

coordinates to find the coordinates of
points A, B, C and D.

(-2. 4) (1. 4]
[-5.1) D A (4.1)
[-5.-3) B (4 -7)

(-z. -5) (1. -5)




